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B 1 BHZEROKLDICES UTRIEHM
int ans=2, a=4, b=8;
RDOE X ZR1TUILEDEE ans DIEZ
(1) ans = b + a;

(2) ans = b - a;

(3) ans = b % a;

(4) ans = ans / ans;

(5) ans = ans * a;

B2 BHERDKLDICESUIC,

int a;

ROSNERTUILEDEY a DIEZS XISV,

(6) a=(2-5);

(7)  a=((-1) + 2);

(8) a = (int)3.7;

(9) a = ((int)5.5) * 2;

(10) a = ((int)(2.3 + 4.8));
B3 BHERODKIDICESE UTHIEA

int ans=1, a=1, b=1;
RDENZ=RTULEDEE ans DiEZ
(11) ans =a =b = 2;

(12) a = ans + 1;

(13)
(14) ans--;

(15) ans = ++ans;

B4 BHEROKIDICEE U THIEA
int a=2, b=5;

ans += a;
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(& 25t 40)

ROBZNZRTULLBEEAD (true T2 false) ZB RIS,

(16) System.out.println(a != b);

(17) System.out.println((a - b) != -3);

(18) System.out.println(a < (b - 3));

(19) System.out.println((b % 2) == 0);

(20) System.out.println((a < 3) == (b > 4));
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(A3 2) ZBHERDEIDICES UTHHAE LI,
int a = 3;
NEECBEBEFZRUVCROZI— FERTUZERENES IS,
CC TR ECREEEFIIE UBEIRMN TABEDBEEF TI, LIV
TIVIS—DEIR TT5—] CHRSRICSZESUN, (& 25t12)
(1) System.out.println( "CAICHIZ" );

(2) System.out.println( a + "FEDFSE" );

(3) System.out.println( "3 - 3(3" +a - a+ "CT9" );

(4) System.out.println( "RODE"+ a + "FHBTI" );

(5) System.out.println( "3 + 3 [d" +a +a + "CTId" );

(6) system.out.println( (a - 1) + "[&" + (a) + "O1 DFIOHETIT" );
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AV AR (& 25t 10)]
int a;

double b;

(1) b =2;

(2) a = 2.5;

(3) b =2.5;

(4) a = (double)2;

(5) b = (int)2.5;
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(3 3] ZHZRDKDICES U THHEAE LIS,

(A 6] ROI—FIEF—MNR— DS age (int ) ZAND L. UTD
RICUDTZVHEIZTV) BRZBEICEHDULET ., ZREBLICIEHTI

int a = 3; — FETHRSERS)N, (4]
ROEI— RERGFTUCEBEHESZEEIV), CCTI— RPORITOR || Fho AN
NR—=ZERF—EZED RV TNE T, @EEHSINENEER TX]) 88 || ekm (FULWESHIEEA) ANIERBETT
BICBEZRISSUN, (%52 5t 20 Fho NS
(1) if(a<-2)System.out.print("A"); et GELWESHZFT) 20 Kb RKRETT
(2) if(a'!'=3){System.out.print("B");} else System.out.print("C"); 20 DU MATT
(3) if(a»=3)System.out.print("D"); System.out.print("E"); HEGTH 1
(4) if(true); else {System.out.print("F");} FMEAD LTS IEE)
(5) System.out.print('a'); (6) System.out.print(0.5 * 4); 18 @g}
(7) System.out.print("2.3"); (8) System.out.print(010); KKRKETT
(9) System.out.print('¥'"); (10) System.out.print(false); HZEGTH 2
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° ’ 10 false import java.io.*;

class Intermediate6{
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public static void main(String[] args) throws IOException{
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));
int age;
System.out.println("E@WMEAD LTI EE\");

age = Integer.parselnt(br.readlLine());

WESHE
if(age < 0)
System.out.println("RIEFETI");
else{
if(age < 20)
System.out.println("KEETIT");
else
System.out.println("ATI");
}
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